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Which type of research can be done for the
solution of problem related to understanding
of difficult concepts in the class?

(A) Case study

(B) Action research

(C) Interaction analysis

(D) Fundamental research

@en H fedt N fAvw ¥ Wil afew

1:

B XA D forg fbe webR o1 o fbar o

HHAT 87

(A) 9 e Mg
(B) febarcas 2y | L
(C) ar=1: fohar fageimor |

(D) SMERE SrgwerT
2. To increase the “Critical thinking” ability
among students, which of the following
teaching method is most effective?
(A) Project based teaching learning
(B) Lecture method .
(C) Lecture cum demonstration method
(D) Inductive-deductive method
- et # whencie Rig’ &1 e @ forg,
Frefafa & o= @ (i wew ot
guTEeel 87
(A visige smRa Rieor st
(B) =z fafey
(C) =g wE e fafy
(D) s fafey
3. You have realised that two students of your
class always create a problem in classroom
management. What efforts would be made by
you?
(A) Ask them to stand at the back in the class
and punish them ;
(B) Observe them continuously by assigning
them small projects
(C) Give no attention on them
(D) Ask them to go out of the class

qMUD aF H IR 6 amua wer @ ar
feemfi ™ ¥ RFe eror @em geue N
BT 3Tt ¥ | M9 FAT PBEH ISP

4. What are the applications of “Essay
Questions™?
(A) Check person’s - ability to make
comparison
(B) Apply principles of new situations
(C) Communication of ideas,
(D) All of the above

feperapt Sifa &q febam e 27
‘A’g;maﬂ%%awﬁmﬁmwaﬁﬁa

(8) Rigicf 7 it aRReifr 4 st
(©) R} @ wEror ¥
(0) S

5. " Sneha correctly remembers that her father’s

birthday is before- 16" June but after 11" June
whereas, her younger brother correctly
remembers that their father’s birthday is after
13" June but before 18™ June and her elder
brother correctly remembers that their father’s
birthday is on an even date. On what date in
June, is definitely their father’s birthday?

(A) 16 (B) 12

(C) 14 (D) Data inadequate

9% R &1 SR 13 [ @ 9 afbe
18 S 9 UEA ¥ 3R 9w g g a7 S
W A R 5 I fdr &1 s @
ARG BT R | S F o adie @1 e
©U W S T B Sefe 87

(A) 16 (B) 12

(©) 14 (D) we syt

6. P,Q,R,S, T and U are sitting in a row facing

North. R is sitting between P and T, S is not at
the end. Q is sitting immediate right to T, U is
not at the right end. Then who is immediate
left of R?

, 3R & TP IS §Y & R, PR TS 9
(A) e # S D @1 B FoT S de1 | S 3ifom BR w8 ¥ Q, T UdeH
(B) 32 BIR—BIC WIuide IHY STHT SR S} 3R 9071 B, USSRl BR W 781 | R &
TAIB P THeH IR 3R B 27
(C) 851 WX ®Ig eur9 718} e (A) p ; (B) Q
(D) IF P& § arex dY 3 ©s DT
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Which conclusion can. be drawn from the
given statements? A .
Statements : (A) Teaching is an art.
' " (B) Drawing is also an art

‘Conclusions : (I) All artists are teachers.

‘ (IT) All artists know to draw

: pictures. '

(A) Only conclusion (I) follows
.(B) Only conclusion (II) follows

(C) Neither conclusion (I) nor (II) follows

~ (D) Both conclusion (I) and (II) follows -

fow Ty wei A W B w1 ey fHebrem i
Tehar &7

o @ (A) TR T P Bl

(B) s o 0t U% el B
 frspd : (1) Wi BeER e €|
(I) T FermdR RE T ST
gl

(A) et Frepe (1) SITEROT T g

(B) daat frspd (1) SFHRCT PRl &

(€ 7 @ fepd (I) iR a1 & () STFTER

2

HT
(D) frspd (1) 3R (I1) ST SITRRYT R &

.8. Study the following Pie-chart and the table.

Answer the question based on them.’

qE—e 3R diferdT B A
FY| B R ARG 7T BT ST AR

Books in bad condition
siferree gvera 1 faard
Type of book | Percentage
Ry BTy | iR
Kannada 2
Y
Tomil Kannada V
‘TG English 1
2% *23% St
Hindi 6
Telogu )
e, Telugu A
16% aq
Tamil 8
aftra

If the number of Kannada books in bad
condition is 92, then total number of English

books in the library will be : _
f & QB B HET 92 §,

(A) 1200 (B) 1600
(C) 4800 (D) 4000
9. If PxQ means P is the brother of Q, P+Q

means P-is the son of Q and P+Q means P is
the sister of Q, then P is the r_lephew‘ of Q can

afy PxQ &1 a1ef & P, QT WI§ ©, P+Q &I
aief & P,Q T AT & Ud P+Q &1 3 & P, Q
@) 989 &, 1 P, Q &1 Wio &, B dY R
fpar < A &7 ~

(A) PxR+Q (B) P+RxQ+R
(C) P+RxP+R (D) P=R+Q
10. Find the wrong term of the following number

series — ‘

325, 259, 204, 160, 125, 105, 94 e

“(A) 259 <. (B)204 (e
(©) 160 (D) 125 |
fopr wieen AU 1 e S A BIG —
325, 259, 204, 160, 125, 105, 94
(A) 259 (B) 204
(C) 160 (D) 125

11, If “air’ is called ‘green’, ‘green’ is called ‘red’,
‘red’ is called ‘sea’, ‘sea’ is called ‘blue’,
‘blue’ is called ‘water’ and ‘water’ is called
‘pink’, then what is the colour of grass?

(A) Green ~ (B) Air
(C) Red (D) Pink
£, a1 = BT T BT el 87
(A) &1 ~ (B) gar
(©) et (D) T
12. In the following question, certain pairs of words
ate given, out of which the words in all pairs
excepi one, bear a certain relationship. Choose
the odd pair. 4
(A) Crime : (B) Judgement :-
Punishment _ Advocate
(C) Enterprise : (D) Exercise : Health
Success

fy=foRad wee ¥ vl @ §B Wi Ry T E,
Wﬁwﬁaﬁwwﬁ@%ﬁ%mw
AR ddy e ) e S g1

be represented as - (A) 37TRTE : GOl (B) foyofar : arferawhr
v PR IR (C) werw : W (D) T : R
(C) P+RxP+R (D) P=R+Q :
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13. What will be-post order traversal of a binary 18. Consider the following statements regarding
Tree T, if preorder and inorder traversals of T key — '
& gly en by ABCDEF and BADCFE (I) A super key is an attribute or combination
respectively?
(A) BDFECA (B) BCFDEA of attributes that uniquely identifies
(C) BFDECA (D) BEFDCA :
records in a RDBMS table.
U6 9O T &1 URe 3ifeR gaddel @ , ; '
BT, Afe T &1 Melidy g gaiteR ﬁ‘cré?{ (I) A candidate key is a subset of a super key.
e ABCDEF @iT BADCFE &7 (IIT) All super keys are candidate keys but vice
(A) BDFECA (B) BCFDEA CD )
(C) BEDECA (D) BEFDC A . Versa is not true.
14, Which of the following e-mail protocol is used = (A) Only (1) is true
to move messages through the internet fromw (B) Only (II) is true ‘
source to destination? ‘_,
(C) POP (D) UDP (D) (I) and (II) are true
ﬁ?ﬁﬁﬁﬂﬁé—ﬁammiﬁdl Keyzﬁwﬁﬁwﬁﬁmzﬁ%ﬁwﬁaﬂ
HqEIH ﬂéag B ST W A TP qgaﬁ@ ‘B —
s B 27 I~ .
(A) SMTP (B) IMAP m (I) Supe.r key U% AT UH 3 3feeh. attributes
(C) POP (D) UDP _ a T WA & S RDBMS table ¥ Refsw
15. Which of the following is a Sans Serif font? ¥ : ’
(A) Arial (B) Times New Roman WAL T W ¥
(C) Courier (D) Gothic (IT) Candidate key, super key T U&
ﬁﬂﬁﬁﬁHﬂTWSagsSeﬁffonté? oy ST B 2|
(A) Arial (B) Times New Roman ¢ _
(C) Courier (D) Gothic O (1) =41 Super keys, candidate keys 8T &
16.. Which of the following is not related to formatga AfpT ¥4 candidate key, super keys &}
of animation? < .
(A) Flic Format (FLI/FLC) u a0 BT & |
(B) MPEG (.mpg) Lk T :
~ (C) Quick time (QT/Moov) b (A) (D ¥ &
(D) Amiga (SGI) (B) daet (II) ey ®
e 3 9 @ w1 ofveee @ wile W ddft ey .
e ct: (©) (1) &R (1) 3w &
(A) Flic Format (FLI/FLC) r‘fj (D) (1) 3R () 2w ¥
(B) MPEG (.mpg) o0 ‘ _
(C) Quick time (QT/Moov) g 19. Which is not a type of NoSQL?
Chamigemah C 0 Lo B NGmane (B) MongoDB
17. Which of the following is not a-valid file]
extension of an audio file? (C) HBase (D) OBase
() way (B) .mp3 : Q
(C) .mid (D) .rar :
; 3 : =1 # 1 B 1 NoSQL &7 ysR =&} 87
=1 & 9 B a1 1w iR wiger @1 S b N
- BISel UaICYT Hal 27 (A) CouchDB (B) MongoDB
(A) .wav (B) .mp3
(€} ainid o e (C) HBase (D) QBase
118B -
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20. [dentify the most accurate statement about the freferfad § & fora dos A ’5’1? L i

application of XML - (A) Select * from emp where empid = 10

(A) XML must be used to produce XML and (B) Select empld from emp where empid =
HTML output. . 5 ; 0?6 S

(B) XML cannot specify or contain elect empid from i
presentation information. ?g (D) Select empid where empid = 10009 and

(C) XML is used to describe hierarchically E,Q last name = ‘GELLER’; .
organized information. 5‘624- The information that gets transformed in

(D) XML performs the conversion of | encrypt_ion is -
informatri)on between different e-business (A) Plain text (B) Parallel text
applications. = (C) Encrypted text (D) Decrypted text

XML & SEINT & IR # Wad |elh HAT Wﬁmﬁmmw

@ TEEH BN — .

(A) XML &7 3®¥E XML 3k HIML gy (A) ©IF SRE (g) el TRE
aSeye & Swred & fog fdmm @ £ €) tires eRe (D) Rfrcs eave
amT| 1925, A black hole in a DFD is -

SFER fAfde a1 e & ' i i d flows
PESS|S] a7 &l (A) A data store with no m'boun
. XML'\qff,—cﬂ 2 2? (B) A data store with only in bound flows
(C) —;B(?ML BT {-rq'iﬂ'rr q:,q ¥ aifed 0 (C) A data store with more than one in bound
e-_l
: 5 ; R T flow
& i i P (D) None of these
| : .
farfire - DFD # U& =i &lel Il
e THE L v e e @R Rt AT e
Gl sl i DEMS. we- B2 T § .
21. E:emamtam materialized view mR 3 ﬁ (B) g;-[ Q’gﬂ o b Bt -
(A) Trigger (B) Pointer 0 _
~ (C) Clone object (D) None . % ' tg; sq:ﬁ ﬁﬁﬁﬁm Tell aTel Sel R
| i gfemior @1 991G @ B o :
gB'?I;d; ;‘aqla EIRCIR] '9; = :-" 26. Which one of the following is not a software
§ R o CIES process model? -

o Tngger o . ([B)) Pomteq%( ) (A) Linear sequential (B) Prototype model

(€) Clone object (D) BIg ) e
: ) f th f on % (C) The spiral model (P) COCOMO model

22. is the outcome of the prefix expressi

lmjai,ms,;/,s,ci,l? o m@aﬁ@mwwmm

(A) 12 ' (B) 11 L difed Tl 87 ' :

(€5 (D) 4 LD (A) R iR (B) Wieiegy #ied

3 l“ I 3” | II IE' +s T *a 3a 21 /1 81 47 1 Eal b= HIS > “
R @RI 87 ] (C) wreel Hied (D) BT disd
(A) 12 (B) 11 E . “E 27. Which of the following is not a valid Master
(©)5 (D) 4 view option in Microsoft PowerPoint 2016?
23. Which of the following statement contains an (A) Notes master  (B) Outline master
error? (C) Slide master (D) Handout master
(A) Select * from emp where empid = 10()_03; - ‘ . :
(B) Select empid from emp where empid = HAgHETe qreREEge 2016 # ﬁ'{:‘%‘;mﬁ 7
1006; J P T T AR Y fAebeq T B
(C) Select empid from emp; 2 el (A) e AREX (B) 3rScaig ARCY
(D) Select empid where empid = D) & .
last name = ‘GELLER’; (C) wI18S ‘HR?' (D) ESATST HIEN
1183 ’.’ Page 5 of 16




28. In Excel 2016, if you want to insert 3 columns

between Column G and H you would -

(A) Select column G and right click and select
insert for 3 times

(B) Select column H and right click-and select
insert for three times

(C) Select .column E, F and G and right click
and select insert for three times

(D) Select column D, E and F and right click
and select insert for three times

Tae 2016 #H, dfem GIIR HD 9= &

PicH ST & Iy 3y @ HeA?

(A) pfem G Riclde H41 3R wze faas
BB T IR AT Ryerde Bl :

(B) e H Riclde &1 3R vse faes

(C) ®fe E, F 3R G Ridde &3 3k vge

fders P A9 IR s Rielae w3
(D) ®fe D, E 3iR F Ryctae a3 aiik wge
29.  An IP packet has arrived with the first 8 bits as
- 01000010. Which of the following is correct?

(A) The number of hops this packet can travel
is 2

(B) The total no. of bytes in header is 16 bytes
(C) The upper layer protocol is ICMP
(D) The receiver rejects the packet
Ud [P Packet U8ell 8 bits, ST &1 01000010 &,
@RI M AT BT W BT A1 gh) 22
(A)agﬁtﬁaﬁfaﬁmaﬁwmm%
CER) :

(B) 88X ¥ el bytes &1 HEAT 16 bytes &
(C) Su layer Protocol, ICMP &
(D) RfraR Yabe &1 IRAIBR Hxar 2

30. Which of the following is a combinational
logic circuit that has 2" input lines and a single
output line?
(A) Multiplexer (B) Demultiplexer
(C) Encoder (D) Decoder

fafag & & @9 O sifeaya e
wfde & R 2" gge g SR R

31,

32.

The commonly used protocol for webpage

transfer is -

(A) HTML (B) HTTP A

(C) WML (D) WTTP E

a9 U FEER B AT AR W g

fbar S gren Wekdier & —

(A) T=.d1.09.ga. (B) w=.d1Erdn.
(HTML) (HTTP)

(C) S=LUH.TeT (D) Ssey &,
(WML) - ' (WTTP)

The correct statement regarding W1F1 and Wi-

Max technology is/are —

(I) WiFi uses radio waves to create wireless
connection, WiMax uses spectrum to
deliver connection. ' !

(IT) WiFi is defined under IEEE 802.11x

standards, while WiMax is defined under

IEEE 803.16y standards
(1IT) WiMax covers comparatively larger area
than WiFi. -
(A) Only (IT) (B) Only (I) and (II)
(C) Only (I) and (1) (D) (1), (I1) and (TII)

WlflGﬁ?WlMaxW?%WﬁwW

2/8 —

() IRRE™ HaRE 94 & forg WiFi I
TN T SYANT HT 8, WiMax B

9 % forg W BT SHIT e B

(II) WiFi &I TEEE 802.11x A&} & d&d
gRwiia fam T 8, Sefs WiMax @t

IEEE 803.16y #¥&i & ded qR¥d
o R ? )

(1) WiMax, WiFi &I Qe # qericid &4

TSeqe g &7 | ﬁa%aﬁaaﬁmm%l _
(A) e TR (B) fenediteraax (A) @aer (1) (B) aer (I) 3R (ID)
() TS (D) feapre (C) Bt (I) 3R (1) (D) (1), (IT) 3R (1)
1188 - ’:’ Page 6 of 16

33. Which of the following are correct statements €1 ¢ equation T prefix notation &IT BIT?
with respect to XML? (a+(blc) *(dre)-f) ‘ ;
e da‘g s  (A) +-a*/Mbedef (B) —+a*b/chdef
(i1) XML can be used as a database. i
(iii) XPATH is used to store the IP address of © —+a*/bcdef _ (®) +fa*/bc"de

. the server. 36. Consider the following stack implemented

(iv) XLL defination is used along with XML using stack —

to specify the links with other documents # define SIZE 11
(A) Only (i) and (ii) ?truct STACK
(B) Only (i), (ii) and (iii)
(C) Only (ii), (iii) and (iv) ;g: z;f [SI_%E]
(D) Only (ii) and (iv) } P=
ferfeRad # & S F XML & wey # F&l What would be the maximum value of top that
HAT B° ' does not cause the overflow of the stack?
(i) SHPT SN Bael STel et B & (A) 8 (B) 9

forg R o 1 (@ 11 (P) 10
(i) XML T SUANT SENH & AR W 9 Wh B ST FRd prffaa ffefad
- fapar < war g1 | W W faar & —

(iii) XPATH T IUAIT AR & IP TR¥ ©R # define SIZE 11

& A fobar i 2| Struct STACK

(iv) XLL definition &T SUANT XML & A {

sl ary Sfwpicy & wrr fold @1 int arr [SIZE];
4 Gf%arﬁgﬁaﬂ%a%mﬁmm%l mttOP—-l
. Qs o sﬂﬁzﬂaﬁﬁaﬁmq\wws’ma‘rﬁaﬂﬁ
(B) dhaet (i), (ii) 3R (iii) E ~ i i 7
(C) aal (ii), (iii) 3R (iv) A) 8 st (B" )'59”

- (D tha_ (ii) aﬁ-\f @) ' © 11 (D) 10
34. Consider the given binary search tree, if the root 37.. What will be the output of the following in
node will be deleted, the new root can be — MS-Excel?
ﬁ'(’ RILY Eﬂm G| ';ﬁ R AR ﬁ IfT root =LCM(5, 7, 35)
node f¥eiie ®x faar g, i a1 we & (A) 70 . (B) 1225
Habell & — (©) 12 - (D) 35
, THIEgEIe d§ =LCM(5, 7, 35) @1 ang—c
B —
(A) 70 (B) 1225
(€) 12 (D) 35
38. In MS-PowerPoint we can run slide show
° e from beginning using ............ key and from
current slide using .......... key.
‘ @‘ ‘ Q (A) F5, F7 (B) F6, F3
58 & Eh i (C)F7, Shift+F7 (D) F5, Shift + F5
(C) 48 or 59 (D) 30 or 63 TATH~UTR @EC H B ol B
35. What would be the prefix notation for the WO 9§ RS- Yo o Hedl W g
given equation? ' 0| S ol & W & qfAaE wige 9|
g et (A) F5, F7 (B) F6, F8 *
(A) +-a*/Abedef (B) -+a*b/crdef P -
(C) -+a*/bcrdef (D) —+fa*/berde (C) F7, Shift + F7 (D) F5, Shift + F5
118B - %* Page 7 of 16




39. Which of the following view is most suitable TG —aE STy § qoirad] Sae bl
to rearrange slide in MS-PowerPoint? B = ‘ :
(A) Slide Sorter (B) Notes Page () gawaTa (B) g3
(C) Normal (D) Slide Show (C) 3T . (D) ferrgane
UA.0. dige § WSy 3 E"‘lﬂfﬂﬁ@ﬁ 44 Which of the following is not a system
aﬂﬁé?a‘»m e Sugad o T # W B software?

) R (A) Programming language translators
(A) g HER  (8) g Iw St e
"% (B) Utility programs
(C) Fiac (D) w1gS oM
i (C) Database software

40. p contgxt of memory card, SD and MMC (D) Operating systemn
stands for - g ‘ ol ¢ 2 .
(A) Secure Digital, Multimedia Card fe & & B9 w1 ge Rived wdfredaR @
(B) Secyre Data, Memory Management Card &7 4 2 !

(C) Safé-Pata, Mega Memory Card (A) T ehast giRieres :

(D) SafgDigits, Multimedia Card (B) feferdy wmm=a . E
AR PP werd ¥ SD T MMC T e (C) e WiedaR

g— O | (D) ffmfeT RiweH

(A) R feRies, Fedifear e 45. Which is the largest unit of storage among the
(B) RyemiR ST, HRY A-ivTie ors following?

(C) I% reT, 7T FHAN) HTE (A) Terabyte (B) Kilobyte

(D) R (fgfirew, Aecrfear w1e (C) Megabyte (D) Gigabyte

41. In MS-Werd ‘Gutter’ is related to - 1 § @ o9 @ RS @) 99 997 5hE
(A) Origntation (B) Page size 4
(C) Mm@s (D) Equation (A) eRTETEE (B) fipeitarge
W—@ﬁ ‘Gutter’ fFasy Hdferg 87 (C) #TTaTgE (@) frmerge
(A) 3iiRge (B) Ut |IsS 46. Which of the following is not a first generation
(C) mifolsy (D) ST computer?

42. Tn conteRof MS-Word, fill in the blank — PUENENC NP
“Createl™» tc; assign a name to a RIEGYALS RN
specificppint in a document”. ?;q F B T W T g =X el
A i B i : g
: c; g‘@,‘ :n: SERNR S (A) ENIAC (B) PDP-11

oI ki (C) UNIVAC-T (D) IBM-701
Q‘:T:W.—E‘é @ Wl # Raa v @1 gfd 47. Which of the following is used by banking
Eﬁ 7N A% industry to handle large volume of cheques?
0. %?@E 7 1% faftre fag @ i (A) Digitizer (B) MICR
A £ GTIE‘ o b (B) Y (©) Barcodfe reader ._ (D) C‘aptcha N
(C) ETgwRfcich (D) g IS A A T Bl B geE @ fow e

43. Decorative text in MS-Word document is SET &RT 771 7 9 freapt Swir fosen s
called - | &7
(A) Bookmark (B) WordArt (A) R¥frergar (B) MICR
(C) SmartArt (D) ClipArt -(C) IRPIE T (D) G
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48. If three threads are trying to share a single 52. A relation in which every non-key attribute is
object at the same time which condition will fully functionally dependent on the primary
afise in the scenario? key and which has no transitive dependencies
A) T B) Citi s o3 isin-

(C) Time lapss ED; Crmoa? situation (A) 5NE - (B) 3NF
(C) Race condition Recursion (C) 4NF (D) BCNF
If & art Ue & 9 ¥ P 9% DY A= % Rerem R yie JfF-a) tgiege qof
T BT UAT PR YE ©, O 39 URGW A I [ WU WIS Foll W B i /R
& Rerfy o=t grer? (o o aer Rl o gifvfea R (Friven)
(A) TEH—ar (B) frfewa Rigemr [ i # B 2
© % wdew () Redor o e

' e B ©anE (D) BCNF

43. In relational database minimal super keys is (<=53. Which one is measure of software

known as - 157 complexity?

(A) Primary keys (B) Foreign keys - (A) Number of lines of code (LOC)

(C) Candidate keys (D) Reference keys (B) Number of man years

: (C) Number of function points (FP)
ﬁs‘rema;mﬁvl d A R B o % (D) All of the above
: ’ (O B9 a1 WYeRR Afeaar &1 A1ad 87

Rk s B bl S (&) re & ufi @ (LOC)

© FEeT B (D) I BT <t (B) e T B W | 4

50. In decision table left-lower quadrant is E (C) warr fawgall @1 e (FP)
called - . o= (D) SURTET I
(A) Condition entry  (B) Condition stub 54. The test levels are performed in which of the
(C) Action entry (D) Action stub (92  following order?

b a6 : - (A) Unit, Integration, System, Acceptance
e <o & aR—Aa &1 ageie ... (O ¢ SRRSO, SIPE SNevep
: 3 ‘ e (B) 1t is based on nature of the project
) & (B) wrerT g (C) Unit, Integration, Acceptance, System
C) PR Tl @ ¥ed oy (D) Unit, System, Integration, Acceptance
i A i i ol o PR 3 R A R

51. In context of information gathering, ranking ST &7 ,

scale questions ask the respondants to - (A) gfe, FERYH, RiRed, TR~ -
(A) Choose one among given answer choices (B) g uRrsr=ET @) UGHfa W AR 2
(B) Rank list of items in order of importance 5 (C) gfie, $<heM, vaae, ReeH
(C) Mark a level of satisfaction on a given 8 (D) Ifie, fawed, SERRM, T

scale i.55. Which testing focuses on heavily testing of
(D) Say Yes or No . g one particular module?

; ; BE— . (A) Gorilla testing (B) Fuzz testing

S @ ¥, e | — (C) Inter system (D) Breadth testing
STRETCT W PET STl & — > testing
A IR fdwedl § 9 Eg . 2
(&) e g % T @ R P @ ReT wE fEw Hregw #
(B) g |l Bl SUAIal & HW 4§ Avieg . ;

B B forg e SRET T B &7
(€) Ry v ¥9M W wgfe @1 wr fafed (A) MReem SRET  (B) B SR

& @ oy (C) svex fwew SR (D) o1 SR
(D) & a1 AT T B fog |
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56. The first step to the system study project is ‘n’ 29l drel Rels EMPLOYEE W afe
to - : SQL &His DELETE FROM EMPLOYEE
(A) Define system performance criteria fanfeg &) ot £, @ EMPLOYEE Rerem
(B) Describe information r.leeds AT TRy &S ST |
(C) Staff for the study project (A) 3T e ' (B) dhael WM U
(D) Announce the study project ' \ .
©) = ‘n’ ey (D) Hae 3ifeH cue
Rred W woge UET HEH © — ;
(A) Rieew gedh Hﬁi@% a 61. Which of the following is valid pair of schema
(B) e ) STl BT avi Y change statements in SQL?
» aﬁm v 2 R sl (A) DELETE, ALTER (B) DROP, UPDATE
(D) RS @ HYYOT Y (C) DROP, ALTER (D) DELETE, UPDATE
R - A ﬁﬁﬁﬁaﬁWSQLﬁRﬁmqﬁaéﬂwﬁf
57. Which of the following memory is used to e
minimize MEemory-processor speed : fzr) DGIEaLEEl 'Ig;:“ALTER e ot e
mismatch?
(A) UVEPROM (B) Flash memory (C) DROP, ALTER (D) DELETE, UPDATE
(C) DVD (D) Cache memory 62. Choose true statement :
=1 4 9 o ) THR), TR—TER & fa I - Binary search is faster than linear search.

' o ? II — Binary search may not be applied on all
IRAer BT gAaH B H TYdd Bl B : | ot be a Aot
(A) UVEPROM (B) woysr FHR) Llle ;:;g]l;(ta(lllSts on which linear search can

58 (\::/)thYD £ the foll - ﬁ;ﬁ: ds will creat ) 0ury 1 s
. ich of the following methods will create gy
string in Java? (C) Both I and IT (D) Neither I nor II
1: String S = “Hello Java™; A U T TIT B
IL: String S2 = New string (“Hello Java”); - ared wd, fafeR < @ W 3 aﬁ
(A) Only 1 (B) Only 11 S
(C) Both I and I (D) Neither I nor IT i ol : o S
o & fe # 9 e R @ R I Tl B o1 W o R ferfrR W @
I: String S = “Hello Java”; S
‘e " |
11 : String S2 = New string (“Hello Java®™); A) & g (B) 3 - _
(sl : (B)mgll S ©IlTnnemt @A A E
(G 1 et 10 =i il : ' ?IT‘ﬁ = 63. LB are UB are lower bound and upper bound
59. Which of the following are line printer and of a linear array LA. Con51der following
page printer respectively? \ . algorithm —
(A) Laser Printer, Dot — Matrix Printer 1. Repeat for K = LB to UB apply PROCESS
(B) Drum Printer, Band Printer to LA [K]
(C) Drum Printer, Laser Printer © 2. BExit .
(D) Laser Printer, Chain Printer The algorithm .......... (B) the arlrlay LA.
B 1 i vl 1 U | o B o U (A) sorts searches
g; g?@r i (C) traverses (D) merges
(A)mifﬁa,sﬁ'c'.—ﬁfawﬁa‘\r e IR W LA @ @R 918vs LB
(B) g9 fifey, dve fiiex 3 :g‘\'mUB%ﬁHwﬁﬁmwﬁw
(€) 39 fliex, ooR fiiex .
(D) oo fifex, = fifex = 1. Repeat Ifgr K = LB to UB apply PROCESS
60. If SQL command DELETE F{{QM ; gxiLtA[ ]
EMPLOYEE; is executed on relation . ‘ :
EMPLOYEE having ‘n’ tuple init, ............. T8 TANRYH, W LA B oo B ® |
will be deleted from relation EMPLOYEE. (A) &t (B) ¥
(A) Zero tuples (B) Only first tuple c (D) 7
(C) All ‘n’ tuples (D) Only last tuple (C) s
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64. In context with Relational Algebra, which of

1. Select

the following are Unary operators?

2. Project

4. Product

(B) 2 and 4 only
(D) All are binary -

3. Union |
(A) 1 and 3 only
(C) 1 and 2 only

HeRE dromig & el # AeforfRad §

68. 1n tuple relational calculus Py — P is

equivalent to -
(A) =P, v P, B)p,vP,
(©) P, AP, @) P AP,

el ReleFel daqerd # Py — Py SRR

¥ BT T aifovey &7 g -
IW Zmﬁﬂ"d (A)'—nplng (B)P v P2
3.qfE 4. Ureae . (©) P, AP, (D) Py A P,
(A) o 1 (B) et 2 7 4 69. Which of the operations constitute a basic set
(C) et 1 7 2 (D) Y Iy B :
65. Which of the following database object does of operations for manipulating relational data?
not physically exist? A : B) Relati ;
(A B tabls (B) Index (A) Predfcate calculus (B) Relational calculus
(C) View (D) None of the above (C) Relational algebra {D) None of these
FefoReg & @ a9 w1 Seew  sifetae ' .
(A) AT 29 (B) T37 R, SRIAT & HoT We BT Mo bR
© =1 (D) 5T & HIE TN &
66. Which of the following is not a super key in a (A UfsTe dagew . (B) Reremer demen
relational schema with attributes V, W, X, Y, C) Rererar TororERy (D i '
Z and primary key VY? : )‘ (0) &7 § P Tt
(A) VXYZ (B) VWXZ 70. Network layer firewall works as a -
(C) VWXY (D) VWXYZ (A) Frame filter (B) Packet filter
FreforRaa & & @i ofgege v, W, X, Y, (C) Both (A) and (B) (D) None of these
Z 3R urifhe ol e arer Rerere '
wﬂmﬁwﬁaﬁ%? AECTD TR BRRATE ..o & WY H B
(A) VXYZ (B) VWXZ T 2 |
i YN (A) s fireer (B) tbe fireex
~ ©7. Match the f(;lrowmg = (©) ST (A) @R (B) (D) 579 & 1S ==
List - I ('\‘jj-ﬁ—l) i SR is malicious software that alters
(a) DDL the regular functionality of an OS, takes full
(b) DML E control on the targeted system and acts as the
(¢) TCL - system administrator on the victim’s system.
(d) Binary operation (A) Spyware (B) Virus
List - IT (-11) (C) Rootkit (D) Trojan horse
(i) LOCK TABLE & :
@oORBIE ™ 30 0 o | e Ueh AfcrfRr Hivedwr g, \—rﬁ el 0s
(iii) Natural Difference @t frafid srfewar S gae I 8, eRie
(iv) REVOKE foreed R gof fegaer &, difsa @ Rives w
(A) a-(ii), b-(i), c-(iii), d-(iv) e wefafiger 9 wiftr &l oeear 2
(B) a-(i), b-(ii), c-(iv), d-(iii) (A) Spyware (B) Virus
(C) a-(iii), b-(ii), c-(i), d-(iv) 0 : o .
(D) a-(iv), B3}, (i), L) (C) Rootkit (D) Trojan horse
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B Hackivisiiae : forfoRaa & & 99T Wi-Fi hackmg Eal
(A) a pracess of break into systems and dig out its gfeear # SuAnT ETGT 7?
information and make it public. (A) Aircrack — ng (B) Wireshark
(B) gaining access to systems with an intention to Y (C) Norton i (D) SuRTaT AT
Ay A ]demlﬁEd i | A— g;?; (15 L S ) A encoding scheme, each 24
(C)? st ssong - Mo i, s P bits become four 6 bit chunks, and eventually
infrastructure and to find its loopholes. &) aresent as 32 bits:
(D) the act. of hacking a computer system, for <t (A) 8 bit (B) bin
olitically or socially motivated purpose (o) : ary L
P y y N ‘ «- (C) base 64 (D) quoted — printable
%(aaiaﬁl"l .................................. | e q_:‘aﬂm Iﬁ_a_;n_ ﬁ m 24%3
() Rreew 3 W1 T SR g o (s o T # Y it 32 e @
IR 6 fdc TS a9 T 3fea: 32
- YT B ATD B DI YD UlehaT | =7 5 ¥ o & ~
(8) TEwrfl T HHARA HI S FA F W< (A) 8 bit (B) binary
¥ WA @ 9g W P | i (O base64 (D) quoted — printable
(© f ﬁé ; 3fd 5? ®l é% In FTP, there are three types of ................. ;
6 TH W il ¢5 stream, block and compressed.
(D) wroriifoe a1 wAfos Sevr @ 9RE D (A) file types (B) data types
PR Rived 1 8% T BT P gl '&3 (C) transmission modes (D) None of these

e Tty o gliat phass Nicpig tdiniynd <t FIP # 0 UR @ .o , stream,
used by hackers to make free calls? oo e Y
(A) Spamming (B) Phreaking g b19° compresse
() Cracking (D) Phishing e (A prEel TR (B)Seremw
Wg‘ﬁﬁlﬁ?%ﬁﬂdcbmmaﬁqsumaﬁ (©) giwfier Argw (D) ¥ & P el
forrent SwanT ¥ gw Bid B B for 79. Check sum is used for - _

T F - () (A) error correction  (B) error detection
(A) RfT (B) TR E‘S (C) Both (A) and (B) (D) None of these
(C) sfeh (D) foR1T 53 ﬁzﬁmaﬁrmﬁa—mm%—

74. A RAM chip has a capacity of 1024 words of <F (A) Ffe gur . (B) ﬂﬁf‘ﬁiﬂ?ﬁ ® ﬁ"N
8 bits each (1kx8). The no. of 2x4 decoders . | ¢ (C) (A) iR (B) ¥ML (D) 7 & &g &l
with enable line needed to construct a 16kx16 Eg_ What will be the output list after completing first
RAM from 1kx8 RAM is — pass of bubble sort on input array 32, 51, 27, 85,

A 4 (B 5§ (€ 6 O 7 66, 23, 13, 577
: . A) 32,27, 51, 66, 23, 13, 57, 85
o RAM firm 1 s 8 bits(1k®) & 1024 | @y (@) 3 31 30 00 20 130 g
Treat 1 BTl 1 1kx8 RAM & 16kx16RAM | &g (C) 27.33.51.23. 13, 57. 66, 85
M & U Smavgd wWem osd el 2x4 | pe. (D) 23, 13,27, 33, 51, 57, 66, 85
fePrer @ W & — O gqe W 32, 51,27, 85, 66, 23, 13,57 R 99
@ 4 ® 5 © 6 @ 7 2’5 Wi BT U U YUT R B SURIA SSCYE

75. A tiny bootstrap loader program is situated in - - foree @am grfi?

(A) Hard disk (B) ROM (A) 32, 27,51, 66, 23, 13, 57, 85 E

(C) BIOS (D) None of these zg; 33 g; gz gg’ ig ;3 Za gg |

TP BIeT ey ey wum Red # — (D) 23, 13,27, 33, 51, 57, 66, 85

(A) Hard disk # (B) ROM # 81. In context of MS-Excel, find the odd one out -

(C) BIOS # (D) 379 W P &I (A) Portrait (B) Scenario Manager
: T : C) Goal seek (D) Data table

76. Which one of the following is usually used in ( ) o R >
the process of Wi-fi hacking? TATAYRIA & HeH H 97 BT g PN —
(A) Aircrack — ng (B) Wireshark (A) gige (B) Ry ﬁﬁw
(C) Norton (D) All of the above (C) Mrar Hiw (D) TTeT e
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82. A special software to create a job queue is 86. An INT file in Windows 95 is -
called - (A) A program file  (B) A message file
(A) Linkage editor ~ (B) Interpreter (C) A text file (D) Link file
(C) Drive (D) Spooler’ fierT 95 3 Ta INT Biga & —
T a9y wiTedaR S Sife 7 fbye we €, (A) T Wi Bigel  (B) Uh H2T BIEw
G‘\q ......................... WETWI?{T%I . (C) Udh e Bz (D) i wrer
(A) fefasr TfEeR (B) gexfieR 87. A counting semaphore was initialized to 8.
(C) 159 (D) ¥ Then 12 P (wait) operations and 7 V (signal)
83. What are the forms of password cracking operations were completed on this semaphore.
techniques? 4 o The resulting value of semaphore is -
(A) Attacksyllable  (B) AttackBrut forcin%é; W4 B3 46§ B 1
(C) AttackHybrid (D) All of the above {2 U& counting semaphore 8 | initialized Gl
yrae BT qEie @ wu g 82 EB ?Wﬁ)'?ﬂlzsg(wamim“i%%
RIS e qﬁﬁh signal) SO semaphore
W) (®) ’Wg g b Qﬁ'UTTHWE{ Semaphore @1
(C) sreerEiis (D) ST A ‘"' value 81T —
84. Choose the incorrect statement - b (A) 4 (B) 3 © 5 (D) 1
(A) If a method is declared as final, that method 88. Which of the following statements is/are true
cannot be overridden in sub class. regarding JAVA?
(B) Finalize() is a method of java, which A. Constants that cannot be changed are
called by garbage collector thread bef: declared using the ‘Static’ keyword.
removing an object from the memory. B. A class can only inherit one class that can i
inherited. If you do so it will give yaq— (A) A is true , .
compile-time error. (B) B is true E
(D) If we declare any variable as final, the valEé'" (C) Both (A) and (B) are true .
of the variable can be modified in final® (D) Neither (A -
hathod. . el er(. .)nc-)r (B) is true ‘
(A) a2 R method %V fi 12?@3%211 il 0 L R :
3 99w . &1 e A. BT e 9l T8l o1 HehdT, E%
> method @1 subclass H overri Rfee’ BaS BT STANT B SR T
&l faar S Faar 2 | P ey
(B) Finalize() STraT &7 method &, 519
5 . B. U& T ®ael Ud 97 BT 3IeRE B Hehell
W Y Sifestae BT &M | s garbage) 2, Ol B $eXBW TN P AT § |
collector thread ERT call fasar ST 2 I‘ (A) A T&Y &
(C) TfX el class Y final EYRT fRbar el (B) B W& &
2, T S inherit & fhar W7 Febar| (C) T (A) 3k (B) &l &
!Il%aignﬁwmﬁ% ﬁ’ra‘s'complle-tnrqg) (D) 7 (A) W& 2 3k 77 & (B) W
-y - 89. In Artificial intelli i
: _ gence (AI) which agent
(D) afE; & @Hi' variable T final €I ?TE deals with happy and unhappy state?
€, I variable %1 value T final metho@ (A) Simple reflex ~ (B) Model based agent
modify f&T I Hear & | co agent
85. How many states can be processed UL (C) Learning agent (D) Utility based agent
operating system? aféfhRre geforei (A # @ar Toie
A) 2 (B 3 (€ 4 @ 5 Tt iR e e ¥ waft 27
aitwRfe e  foeet we s &% wod (A) River Rvorass (B) fser 4% Toic
27 sk
c : .
AW 2 ® 3 © 4 O 5 OmAr e | W 4 e
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W WERL i is an aggregate function.

83. | Command to open Snipping tool menu to take

(A) SELECT (B) CREATE a screenshot of only a section of your screen -
(C) AVG (D) MODIFY (A) Window key + Ctrl + S
SQL ¥ ........ud Tire e 2 (B) Window key + Shift + S
(A) SELECT (B) CREATE (C) Window key + Alt + X
91. ‘ptrdata’ is a pointer to a data type. The . A WO B A T R T wheie
expression *ptrdata++ is evaluated as (C++) - @ @ forg Smppmg tool #Y wrer @ fore
(A) *(ptrdata ++) (B) (*ptrdata)++ comimand
(©) *(pt d A (D) Deperill i (A) Window key+ Ctr1+ S
ptrda a) e epen s on compiler (B) Window key + Shift + S
‘ptrdata’ Uoh STIEY &1 IS | AP (C) Window key + Alt + X
*ptrdata++ BT Yedih= §H TER o ST (D) Ctel + Shift + K
& C+) - 94. Findx=? .
(A) * B) (+ - I (356)s = (X)16
(ptrdata ++) (*ptrdata)++ (A) EE (B) EA
- (C) *(ptrdata) ++ (D) FHIseRk W fIUe (C) 7B (D) A8
HTT % g’lﬁ a‘ﬁ'ﬁﬂ'q Xx= r)
92. Assume that p and q are non-zero positive Il (356)s = (x)16
integers, the following program segment will (A) EE (B) EA
perform — (C) 7E (D) A8
While (p! =0)- LT 95. Which statement is/aré true about Exception
{ - : by ; handling?
If (p>q) , E -1. There can be try block without catch block
=p—q; : but vice versa is not possible.
else ii. There is no limit on the number of catch
q=4-p; bloclg cprrespondlng to a try block. ‘
printf(“% d”,p) iii. The object must be created of a splec1fic
(A) Subtract small number from large number ik of wihich fue eron b e
g thetwise runtime error will occur. .
B) Compute GCD of the given numbers o i
( pute g um 1v. To execute a code with each and every run
(C) Compute LCM of the given numbers of program, the code is written in finally
(D) The loop will run infinitely - block.
79 o & p 3R q -y wsRES gUie (A) i and ii, iv- (B) Only ii
§ P Unrm @ yesT B — (C) Only iii (D) ii and iv Only
While (p! = 0) ~ Exce t}og?handlmg @ IR F BT/ AT
I{f( ol i catch block & fa=T try.block_‘a'\r APl &
1 (p>q clifd 9@ fauda wwa 78 2|
P=p—q;- - ii. fP¥l T try block @ forg feber 1 catch
_else block B HHd & | :
9=q-p; iii. fore affesiere # TR ¥ galm & U SH
printf(“%d” p): i Foma &1 awar AT @Ry e
_ ; ¥ CT8H U 3T |
(A) 91 %= & B T BT Ferem ivwmgmmwam
: : execute finally
(B)—q“rnﬁﬁwaﬁzﬁccnaﬁmaﬁm it # B s 2|
(C) &1 AT W=l & LCM &1 70T & (A)i 3R ii,iv (B) Saet ii
(D) T[T infinite IR Tl (C) T iii (D) @t ii 3R iv
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96. Which phase is not included in Virus Life 98. In C, what are the various_ types of real data
Cycle? : ; type (floating point data type)?
(A) Dormant (B) Execution (A) float, long double
(C) Start (D) Triggering (B) long double, short int
Frd vE o Eﬂ?ﬁ’ﬁ AEE WIEfee ¥ (C) ﬂ(_)élt; double, long double
aftaferg w18 ¥ (D) short int, double long int, float _
(A) Sije (B) TaiIeRIE ‘C’ # faf=1 wPR @ real data type (floating
(C) e . (D) fearfir point data type) HITH &7
97. Which of the following statement is/are (A) float, long double
in t with eét to abstract classes? (%) long double, short int
incorrect with res ; ! e
T P (C) float, double, long double
i. Subclasses of an abstract class that do not (D) short int, double long int, float
provide an implementation of an abstract 99. What is the result after execution of the
method, are also abstract. following code if ‘a’ is 10, ‘b’ is 5 and ‘¢’ is 10?
o } : if ((a>b)&&(a<=c)) :
ii. Constructor and static methods cannot be Pl E
declared in abstract class. else _ 2
iii. Sometimes we can create objects directly. c=c+l;
T ——. gl WA (A)a=10,c=10 B)a=11,c=10
iv. A method must always be redefined in a , -
C — = D — 1 —, 11
subclass of abstract class. ( )a_ Whe=1l Pw=1e
(A) i and ii (B) ii and iii frfefd ars @ fere @ arq aRem @ .
(C) ii and iv (D) i,iiandiv g afk’a 10 8,p’ 5 8 aRe 10 &7
Abstract classes @ Heer # f=forad & 4 if ((a>b)&&(a<=c))
. . a=a+l;
. — l.
i. f&¥) abstract class @1 subclass ST abstract R
s Wa=10,c=10 B a=1l,c=10
class @ H2IS @1 implementation SUTET Cla=10e=11 (D) a=1l,c=11
T P £ 98 9 U abstract B 2| - 100. Which of the following declardtmns is incorrect
' in python language?
ii. Abstract class # constructor 31X static (A) xyzp = 5,000,000
: (B) xyzp = 5000 6000 7000 8000
method YT T by o1 W £ (©) x, Y, 2, p = 5000, 6000, 7000, 8000
iiii. TP 79 W sifesiae I HHA E | (P) x_y_z_p = 5,000,000
iv. U% abstract class @V subclass 5 method = 'IE”@E'_ i 9 ‘ PITE  EYOT python
s language ¥ W&l T8l 87
@1 g G 3 ! U | (A) xyzp = 5,000,000
(A) i al¥ii (B)'ii 3l iii (B) xyzp = 5000 6000 7000 8000
(©) ii 3l iy ) i ii @R iv (€) x, v, z, p = 5000, 6000, 7000, 8000
' (D) x_y_z_p = 5,000,000
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